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Find the coordinates of the midpoint of Aol Aaladl) Caiatio dadi sl gl 1w

AB for A(—4,8) and B(6,12)

(_10’_4) X1+xZ y1+y2>_<—4‘+6 8+12)
' N2 72

(2,4)

(1,10)

(2,20)

Find the coordinates of the midpoint of Loinal) dadaill Coiatio ddadi Jln) ) 30
ABfor A(—6,3) and B(-10,7)

(-8,5) (x1+x2 y1+y2> ( 6—10 3+7>
(—16,10) ( %?

(2,-2)

(4,—4)

)=(-85)

o]
)

If N(—=2,1,-5) is the midpoint of MP MP <aain A N(—2,1,—5) <lS 1y 4o
where M(—1,—4,-9), find P P x»s M(—1,—4,—-9) &
(=3,6,—1) <x1+x2 v+ ¥, z1+z2)

2 2 T2

(-1,5,4) B

(3,-6,1) ~1+x
2

3
(_E'_E’_7> (—1+x2 —4+y, -9 +2z,

) — (=21,-5)

2 T2 2
= -2 -—1+x2=—4 -XZ=_3

—4+
Tyzzlﬂ —4+y,=2 mp y,=6

-9+ 2z
: 2 5 mmm) _94x,=-102> x,=-1

(-3,6,-1)
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Find the distance between
A(7,11) and B(0,5)

d =\/(x2—x1)2+ (2 —y1)?
d=.0-7)2+(5-11)2
d =85

Find the distance between
A(-3,1) and B(5,-5)

d= \/(xz —x1)% + (3, — y1)*
d=(5—-(-3)2+(-5-1)2
d=10

Find the length of the segment AB AB iefiad) kil Jsha syl 7o
A(—4,10,4) and B(1,0,9)

6 d= \/(xz —x1)%+ (y, —y1)? + (2, — 2,)?
5V6 d=(1-(-4))%+(0-10)2+ (9 —4)2
V10 d =5V6

65

An architectdesignedanatticroomwith a  Jiul (e dpda dalas QA 5le 48 2 (5 jlara eige pana
wooden beam that runs from the bottom- PPACN T PN g g PPN D)) RS EN [ |
ieftfront to th upper-right back corner. (9,12,3) sl e ddleall &)l cililal) Jiai ol
The voordinates of the ends of the beam JHYL Aulas (21,24,6)
are represented by (9,12,3) and (21,24,6) daleall b aa )
and are given in meter Find the length of

the beam

V27 m d=(t, —x)%+ (y, —y1)2 + (2, — 2,)?
297 m d=21-9)2+(24-12)2+(6 - 3)?
288 m d =297
251m
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A coordinate grid is placed over a map.

City A is located at (3,13), and City B is

located at (8,—1). If City C is halfway
between City A and City B, which is
closest to the distance in coordinate
units from City A to City C?

4.75

7.43

14.9

19

The map of a mall is overlaid with a
numeric grid. The kiosk for the cell

phone store is halfway between The Ice

Creamery and the See Clearly eyeglass
store. If the ice cream store is at (2, 4)
and the eyeglass store is at (78, 46),
find the distance the kiosk is from the
eyeglass store.

a) 43.4 units
b) 47.2 units

c) 62.4 units

d) 94.3 units

The coordinates for points 4 and B are
(—4,-5) and (10,—7), respectively.
Find the distance between the
midpoint of 4 and B and point B.

V10 units
5vV2 units

5V 10 units

10V2 units

die T Anad) aii Ay A e cliln) 4S5 pay o
CilS 1) (8, —1) 2ie o Auad 485 ¢(3,13)
Ll s T Anaall cp Aloall Cauatiie b 4l Al
dad) e clila ) il gy dilie 8 o Ld
Sz duadl

_ \/(xz —x1)% + (y, — y1)?
2
_ J(B8-3)2+(-1-13)2
d= 7.313

d

d

GLIS oy Aadd ) Ak g 38 pal Ay 3 ) o
e (G Caie b Alpenal) sl ate
S oY) e OIS 1Y iUl e g ay S G
(78 46) i ady Uil e (2 c4) e ol

Uil jata g SLES)) G ddldd) e Enld

_ \/(xz —x1)? + (y, — y1)?
2
] J(78—-2)2 + (46 — 4)?

2
d =434

d

d

ol I e (—4,-5) and (10,-7)

120+

_ \/(xz —x1)% + (y, — y1)?
2
A0+ (D) - (-5
2
d = 5V2 units

d

d
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Q13 Find the midpoint of the line segment Aafinall dakaill Coiatiic Gl gl 130
with endpoints at the given coordinates.

a) (-4,7),(3,9) b) (7,4),(—1,-5)

<x1 +x, Y +y2) _ (7+ 1 4+(—5))

<x1+x2y1+y2) <—4+3 7+9) 2 7’ 2 2 7 2
P ISR

’ i—_l?g) ( ') :<§'7):(4'_71)

Q14 Find the distance between each pair of Y sl BEY ez 5 IS cm Al gl 1400
points with the given coordinates. Slaxdl)

a) (0,6), (-2, 5) b) (10,1), (0, —4)
d=\/(x2—x1)2+(_y2 —y)? d= \/(xz_xj_)2+ (v, —¥1)?
d=+v(-2-0)2+(5-6)2 d=+y(0=10)2+ (—4—1)?
d=+(-2)2+(-1)2=+5 d = /(10)% + (=5)% = V125

Use the labeled points on the outline of Sle i s el bl e saxmal) Lalal) sl
the circular crater on Mars to estimate IS ¢ gl e sl La plad il &y yal)
its diameter in kilometers. Assume each SR g 17 b8 (g gl iyl dUai e s
unit on the coordinate system is 1

kilometer.

d= \/(xz — x1)2 + (Y2 - 3’1)2
d=+/(13—2)2+ (—4.5-5)2

d=+(11)24(-9.5)2 = %gz 14.53 km

Amina hits a golf ball 3.6 meters above i 3.6m 4w o a8 Cal a3 S Ll Cu i
the hole and 0.9 meters to the left. Her Gald bl ) 136 0.9 20 e gl 548
first putt traveled to 0.6 meters above e 3,al §5 5ia 0.6 Ailua 5V Lgh pa
the cup and 0. 3 meters to the right. How 8 3 SI Lgiakad Al Zdball Le cpadl ) 30 0.3
far did the ball travel on her first putt? £ 1Y) Lgis yua

F

244

d= \/(xz - x1)2 + (3’2 2 3’1)2
d=+(3.6—-06)2+ (0.9 —0.3)2
3v29

d=+(3)2+(-1.2)2 = ——=3.23
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Hamad and Hamdan left their campsite 6 Adlis | jlu g Logada laen g2 e 170

and hiked 6 kilometers directly north Do b g )y ohinl & dl-ml\ B il e glS

ard then turned and hiked OLED saaliad B yd ) yia L€ 7 Al

7 kilometers east to view a waterfall.

a. How far is the waterfall from their campsite? fagr paldd) andll c& se e I 2y s le
d= \/(xz_x1)2+()72 _yl)z 9:".
d = (7-0)2+(6—0)? |
d =+ (7)2+ (6)2 =V49 + 36 = V85

&
5
i1
3
2
1

: T T
1o 1 2 3 4 5 & 7 § 9
-1
.21

b. Letthe campsite be located at the originona (x;+x, y; +y,\ (7—0 6+0
coordinate grid. At the waterfall they ( 2 7 2 ) o ( 2 ' 2 )
decide to head directly back to the (Z 9) — (35.3)
campsite. If they stop halfway between 2’2/
the waterfall and the campsite for lunch,
at what coordinates will they stop for
Iunch?
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